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Assignment 10:

Chapter 7
Questions 2.4, 6, 12, 14, 20, 24, 30, 32

114.4+115.6=115

X =

The sample mean is the center of the interval, so

The interval (114.4, 115.6) has the 90% confidence level. The higher confidence level will
produce a wider interval.
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89.10+1.96 51 =89.10+.56 = (88.54,.89.66)

a. V169 . Yes, this is a very narrow interval.

It appears quite precise.
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n:[(ng(m)} =245.86 = n =246
b. ) .

Because the sample size is so large, the simpler formula (7.11) for the confidence interval for p is

sufficient.
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The interval is

We make no assumptions about the distribution if percentage elongation.
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d.f.=n-1=7, so the critical value for a 95% C.I. is . The interval is
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